
-4

-2

-2

-2

-2

0

0

0

0

2

2

2

4

4
0

10

20

30

40

50

60

70

80

90

100

98 99 100 101 102 103 104
Barometric Pressure (kPa)

High Flux (271 mg C per sq m per hr), 20C

-4

-2

-2

-2

-2

0

0

0

0

2

2

2

4

4
4

0

10

20

30

40

50

60

70

80

90

100

98 99 100 101 102 103 104
Barometric Pressure (kPa)

Low Flux (63 mg C per sq m per hr), 20C

Figure 10.  Contour plots showing structure of error for flux estimation as a function of barometric pressure and relative

humidity at 20C for two different flux rates.  Error is calculated as the difference between the true flux (when barometric

and vapor corrections are used compared with flux when no corrections are used) divided by the true flux.


